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program monopoly
implicit none
real ran, ranl, ran2
real d1, d2, d, s, m
integer i(3), seed, j, k, r
integer n(40), mon(40), seki

call itime(i)
seed = i(3) * 131
ran= rand(seed)
do j=1, 40, 1
n(j) =0
end do
open (1, file="out.data", status=’replace’)
open (3, file="ran.data", status=’replace’)
do j=0, 100000, 1
\§ooogon

ran = ran *1000.0 + 43.0 * real(j)*x*0.5
ran = rand(int(ran))
ran = ran *1000.0

ranl = ran
dl = mod(int(ran), 6) + 1 000000000
ran + 37.0 * real(j)*x0.5

ran

rand(int (ran))

ran
ran = ran *1000.0

ran2 = ran

d2 = mod(int(ran), 6) + 1 000000000

d =dl + d2

0000000 @, dbd0ddooooooooooon

if (r>=2) then
s=s8+d
m = mod(s, 40) + 1.0
n(int(m)) = n(int(m)) + 1
if (mod(m, 30)==0 ) then
s =s + 20.0
r=20
end if
1000000000000 00000000000D000D0O000O0 real

else if (d1 == d2) then '0 000000000 OODOOODOOONO
s=s+d 00000000
r=2 00000000
m = mod(s, 40) + 1.0
n(int(m)) = n(int(m)) + 1
if (mod(m, 30)==0 ) then



s s + 20.0
r=20
end if
else 00000 DOODODOOO0O0O0OODDODODDODOOUOO0ODODDODDOOOOOOO
r=r+1

end if

write(l, "(2i10, 5£f20.10)") j, r, d, s, m
write(3, "(i10, 2£f20.10)") j, ranl, ran2
end do
close(3)
close(1)

open(10, file="mon.data", status=’o0ld’)
do j=1, 40, 1
read(10,*) mon(j)
end do
close(10)

open(2, file="n.data", status=’replace’)
do j =1, 40, 1
seki = n(j) * mon(j)
write(2, "(4i10)") j, n(j), mon(j), seki
end do
close(2)

end program monopoly
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c 2010/09/26 Chen Dan
c go0o0ooooooooooooooooooooo
c O00ooo0ooooooooooooo

program monopoly
implicit none
real ran, ranl, ran2
real d1, d2, d, s, m, sold
integer i(3), seed, j, k, T
integer n(40), mon(40), seki
real card, kyoudou, chance

integer ci1, c2

cl =1

c2 =1

s=0.0

r=4

call itime(i)

seed = i(3) * 131

ran= rand(seed)

do j=1, 40, 1
n(j) =0

end do

open (1, file="out.data", status=’replace’)



open (3, file="ran.data", status=’replace’)
do j=0, 100000, 1
\oooood
ran = ran *1000.0 + 43.0 * real(j)**0.5
ran = rand(int(ran))
ran = ran *1000.0
ranl = ran
dl = mod(int(ran), 6) + 1 000000000
ran = ran + 37.0 * real(j)**0.5
ran = rand(int(ran))
ran = ran *1000.0

ran2 = ran

d2
d =
N

if

el

= mod(int(ran), 6) + 1 000000000
dl + d2
0Joooono (a1, d2)0d0000000oooooooa

(r>=2) then
s =s+d
m = mod(s, 40) + 1.0
n(int(m)) = n(int(m)) + 1
if (mod(m, 31)==0 ) then !mO031:G0 TO JAILOOODOOODOO11:JAILOOODOO
s =s + 20.0
r=20
end if
1000000000000 0000000000000000000 real
sold = s
s = card(s, m, cl, c2)
if (sold/=s) then
m = mod(s, 40) + 1.0
if (mod(m, 11)==0) then
r=20
else
n(int(m)) = n(int(m)) + 1
end if
end if
se if (d1 == d2) then 00000000 OO0DOOODOOODOODO
s=s+d 00000000
2100000000
m = mod(s, 40) + 1.0
n(int(m)) = n(int(m)) + 1
if (mod(m, 30)==0 ) then

r

s =s + 20.0
r=20

end if

sold = s

s = card(s, m, cl, c2)
if (sold/=s) then
m = mod(s, 40) + 1.0
if (mod(m, 11)==0) then



r=20
else
n(int(m)) = n(int(m)) + 1
end if
end if
else 000000000000 00DO00O000O000OO00DbOOoD0oOOoooan
r=r+1
mod(s, 40) + 1.0
n(int(m)) = n(int(m)) + 1

m

end if

write(l, "(2i10, 3f20.10, 2i10)") j, r, d, s, m, cl, c2
write(3, "(i10, 2£f20.10)") j, ranl, ran2

end do

close(3)

close(1)

open(10, file="mon2.data", status=’0ld’)
do j=1, 40, 1
read(10,*) mon(j)
end do
close(10)

open(2, file="n.data", status=’replace’)
do j =1, 40, 1
seki = n(j) * mon(j)
write(2, "(4i10)") j, n(j), mon(j), seki
end do
close(2)

end program monopoly

real function card(s, m, cl, c2)

implicit none

real s, m, ds

integer cl, c2

real kyoudou, chance

if ((m==3).or.(m==18).or.(m==34)) then '0 000
ds = kyoudou(m, c1)

else if ((m==8).or.(m==23).or.(m==37)) then !'00 00O
ds = chance(m, c2)

else '0000O0O0OO0
ds = 0.0

end if

card = s + ds

end function card



real function kyoudou(m, c1)
implicit none
real m

integer cl

if (c1==1) then !'0000DO0O
if (m==3) then
kyoudou = 8.0
else if (m==18) then

kyoudou = 33

else if (m==34) then
kyoudou = 17

end if

else if (c1==2) then !GOOODO
if (m==3) then
kyoudou = 38.0
else if (m==18) then
kyoudou = 23.0
else if (m==34) then
kyoudou = 7.0
end if
else !0000O0O0O
kyoudou = 0.0

end if

if (c1l <= 15) then 000000

cl =cl+1
else

cl =1
end if

end function kyoudou

real function chance(m, c2)
implicit none
real m

integer c2

if (c2==1) then 30000
chance = 38.0

else if (c2==2) then !'00000D0OO0DOODOOODOO
if (m==8) then

chance = 4.0

10



else if (m==23) then
chance = 29.0
else if (m==37) then
chance = 15.0
end if
else if (c2==3) then !0 0000ODOOOOO
if (m==8) then
chance = 32.0
else if (m==23) then
chance = 17.0
else if (m==37) then
chance = 3.0
end if
else if (c2==4) then '000 00O
if (m==8) then
chance = 3.0
else if (m==23) then
chance = 28.0
else if (m==37) then
chance = 14.0
end if
else if (c2==5) then !0 00000 OOOO
if (m==8) then
chance = 39.0
else if (m==23) then
chance = 23.0
else if (m==37) then
chance = 9.0
end if
else if (c2==6) then !0 000000
if (m==8) then
chance = 17.0
else if (m==23) then
chance = 2.0
else if (m==37) then
chance = 28.0
end if
else if (c2==7) then !GOO OO
if (m==8) then
chance = 33.0
else if (m==23) then
chance = 18.0
else if (m==37) then
chance = 4.0
end if
else if (c2==8) then '0 00 00ODOODO0O
if (m==8) then
chance = 8.0
else if (m==23) then

11



chance = 3.0
else if (m==37) then
chance = 9.0
end if
else if (c2==9) then !'00000D0OO0DOODOOODO
if (m==8) then
chance = 5.0
else if (m==23) then
chance = 6.0
else if (m==37) then
chance = 16.0
end if
else if (c2==10) then !'000O0O0OOOOO
if (m==8) then
chance = 8.0
else if (m==23) then
chance = 3.0
else if (m==37) then
chance = 9.0
end if
else
chance = 0.0

end if

if (c2 <= 15) then 000000

c2 =c2+1
else

c2 =1
end if

end function chance
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